FP B AHFASEALE 1088 ES 15D T2(10/06~10/12) 7 % &

EREE

% (3R)

@‘vi“ﬁ %\\S‘?z‘ﬂﬁfp%ﬂﬁﬂv

L. 10/07(-) 10/23(Z2 ) EF e F o A FALEFABEE L3 f B prR
SRR FILY G EFARE 2 T L 0 B

2. 10/07(-) 253 A F10/10 % 2 2 EHR (A FL T 3P 2 KH
BN EITEF s iRl s ,1'..& WHe Rk $ ).

3. 10/07(- ) 108 H # R&KEFAFEFEN L, 1 RHT LEF

4. 10/07(=) A% g pFrwF T 67 F 3D 2oLl > I
yﬁ%u%§4o
10/07(- ) & B fged® & 5 > 307 10/9(= )¢ = 8T Har Ak & o o
10/07(= ) 4~6 # & g4c T 4 e arlis > 32 4R AEF 4 10/16(= )&
LI FEILFILS ) R F A BE ST -

7. 10/09(=) 108 5 & B &fFirss % — & €3k > PR 0 7= 1:30~3:30 > #
B RARMPESR O GRETL R L oo

8. 10/10-10/11 -+ RA * ik

1.10/07(- ) A FFEEF RE S ~ R4 T~ HOFH ~ g o RpEE -k
fro RS L T:20 Pladve 0 2 ET:20 KB RNE o B L kT oo
TGt s B4 B % > o F%Frlgﬁkigﬁpﬁvc,d;}%i&vd—ki 7 E kA
2.10/07C=) 10/07-10/18 = % Bt % 4 o %; WRA ) FERRTER O RE
FrRORS ik R R FIRE 3 Zﬁﬁﬂi%ﬁ%ﬁ(ﬁa‘fiﬁi%
TH) -

3.10/708(=) =a A2 in Ry (A4 FHfL 2 i~ &E5)o
4.10/08(= ) %3 FEEHFIHR o

5.10/08(=) 13:30 BB KTz %> S48 % 1T 2 E%F 3 > pgh i Py
24 EpRies -

6.10/09(=) &Fd ¢ % ?ﬁﬂ R ABRRF IV 2o
7.10/10(z ) FA& p i

8.10/11(7 ) # Fxip- = (% *10/05(= )t 7+ %) o

9.10/12(7 ) T EEL L FRI BRI PRy S MEFE -

O & FHFHL

1.10/14(- ) 13:30 B & L &+ Pt » » 21 e F o

2.10/15(= ) 13:30 R Bit-F 2 kT 2 H(= v EBfde) o w2 PAEF
21 -

3.10/18(2 ) e 4P 3 kv hHER P HhHE(Z LA HS ~EEP <)o
4.10/21(- ) 15:10 # 116$ﬁ+*% ﬁvga? FEFE B R E
5.10/22(=) 13 02 FFAz (2P B PAHY 21
6.11/19(= ) - #2 <L Rk % -




7.

12/14C) 116 & & Uk Firp @b § -

8.12/17(2 ) 2HE F i B viL st o
w1 10/07(-) REBEEEL ad
120 10/07(-) 108FEREA FE N4 - FELR 62 § R TS T
fit@ % % %\ g Zp Ef‘r
3. 10/08(=) = *hEF iR H
4. 10/08(=) < H K zzs@lf’r
Wl REEEET > 2R AW ET-BEAF RSN L) BEE S el
& S RN R B R Y 420 R (A
- CAH BEEL > - LB RP D BRAREBES G- £k
+ 5_())
2. 10/07 (- )KTIKT BLT FAER -
3. 10/09 (=) gEgF i !?gr(iil%ﬁ 106
4. 10709 (2) P A #2 7 TEF2 FRIE? FV £ 8% (2) (h¥EK
BoGAHBERRE ~ EE L RR)
5. 10/10 (= ) 7:50-15:00 + £ | £ — 4 4B § 2 3 b 3T 8 IRGH
%‘fslf
6. 10/10 () # % b oHms 4 @it &9 3
L = FFEIT o
%
g |-orfFEire
—‘:;,L
% 1.10/7(=) # %% 3 % o Ehka k32 10:30
21 2.10/8(= ) S F ¥ # 95 #4% %3+ 09:30
Fl | 3. % ¥ RFFEFF F- kY




